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In which of the following year, the

Reserve Bank of India was fully

nationalized and owned by the

Government of India ?

(1) 1947 (2) 1948
(3) 1949 (4) 1950
(5) Question not attempted

When the RBI raises the cash

reserve ratio, it will :

(1) increase the money supply.

(2) decrease the money supply.

(3) initially increase the money
supply but in later period
decrease the money supply.

(4) no impact on money supply.

(5) Question not attempted

Which one of the below is not a

Central Bank function ?

(1) Lending to Government

(2) Financial services to
Government

(3) Banking facilities to the public

(4) Lending to commercial banks

(5) Question not attempted

Consider the following facts
regarding cash credit system of
advancing loans by commercial
banks :

A. Withdrawing power
borrower depends
current assets.

B. The interest payable by the
borrower is calculated on the
sanctioned credit limit which
he can borrow from the bank.

Choose the correct option :

(1) Only A is correct.

(2) Only B is correct.

(3) Both A and B are correct.

(4) Both A and B are incorrect.

(5) Question not attempted

Banks create credit :

the

of the
on his

(1) on the Dbasis of foreign
exchange
(2) on the basis of their securities

(3) on the basis of their total
assets

(4) on the basis of their cash
deposits

(5) Question not attempted
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Consider the followmg statements :

Assertion (A) : System of note
issue by RB.I. changed from
proportional reserve system to
minimum reserve system in
1956.

Reason (R) : This was done to
enable the expanding currency
requirement of the economy to
be met.

Choose the correct option :

(1) Both (A) and (R) are correct
and (R) is the correct reason
for (A).

(2) Both (A) and (R) are correct
but (R) is not the -correct
reason for (A).

(3) (A) is correct but (R) is not
correct.

(4) (A) is not correct but R) is
correct.

(5) Question not attempted

If the banking system receives
¥ 1,300 crores as primary deposit
and maintains a cash reserve ratio
of 12.5 percent, then the increase
in Derived deposits will be

(1) 9,100 crores

(2) % 10,400 crores

(3) T 16,250 crores

(4) 19,500 crores

(5) Question not attempted

When credit is to be expanded in

the economy, the central bank

(1) buys securities in the open
market. :

(2) sells securities in the open
market.

(3) increases bank rate.

(4) increases the cash reserve ratio.

(5) Question not attempted
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11.

What  significant change 1in
inequality is reflected in Economic
Survey 2024-25 as measured by
Gini coefficient for rural and urban
areas in India ?

(1) Gini coefficient declined to
0.237 in 2023-24 from 0.266 in

2022-23 for rural areas.

Gini coefficient rose to 0.266 in
2023-24 from 0.237 in 2022-23
for rural areas.

(2)

Gini coefficient declined to
0.214 in 2023-24 from 0.304 in
2022-23 for urban areas.

Gini coefficient rose to 0.304 in
2023-24 from 0.214 in 2022-23
for urban areas.

3
4

(5) “Question not attempted

What is the
following values ?

25, 15, 23, 40, 27, 25, 23, 25, 20
(1) 23
(2) 25
(3) =27

median in the

(4).24

(5) Question not attempted

Consider the following objectives of
development :

Statement (i) : Development aims
to provide Dbasic life -
sustaining goods like food,
shelter and healthcare.

Statement (ii) Development
focuses only on economic
growth and ignores social
choices.

Choose the correct option :
(1) Only statement (i) is incorrect.
(2) Only statement (ii) is incorrect.
(3) Both statements are correct.
(4) Both statements are incorrect.
(5) Question not attempted

43



12,

13.

14.

43

@

T S W1 H ‘31gv Wel @ e & —
(1) =gei b e

(2) T3 BT A

(3) Isft 1 Siaite

(4) ISft o1 afestare

(5) FATNG I

HE &% IR H T weE W oaw
3

(a) 3reme forel SX1 & STl Y SR
1l I TgTaT 23R Fatar 1 fesf
FOAI R FH R R |

(b) I =¥ uiEdd Hifd #1 Geha
HT & Ffh T8 Tl TGl W
o ST aren = arEnfoa et @
a1t 1 T giEfda 8 S R |

IYH HYAT A H i €1/ T 2/ 2

(1) 9 (a)

Fae (b)

(@) 3R (b) qHT

A1l (a) RATE (b)

HAIANT T3

3
(4)
(5)

IRd TP gfeey o8 e & g
= A 4 s 6 few sy
forepfta i e 2 7

(1) wm= R s

(2) el AT fRufa SO

(3) et HTCTiEe fRufe STseT
(4) = 3fes R Stsemd

(5) 3gaNE 9w

L TS T SRAnS4 i YA TSNS WL 4 T SSR S TPES TP

12|

13.

14.

(b)

‘Invisible’ items in the balance of
payments account refers to —

(1) transaction of goods

(2) transaction of services
(3) capital inflows

(4) capital outflows

(6) Question not attempted -

Consider the following statements

regarding devaluation :

(a) Devaluation raises the
domestic price of imports and
reduces the foreign price of
exports of a country.

expenditure switching policy
because it switches
expenditure from domestic
goods to imported goods and
services.

Which of the above statements
is/are correct ?

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)

(4) Neither (a) nor (b)

(5) Question not attempted

Which of the following concepts of
unemployment was not developed
by the National Sample Survey
Organisation in India ?

(1) Usual status unemployment

(2) Current monthly status
unemployment
(3) Current weekly status
unemployment
(4) Current daily status
unemployment
(5) Question not attempted
o

Devaluation is referred to as
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Among them, which is incorrect
about the relationship between
Mean, Median and Mode ?

(1) Z=3M-2%
(2 3aM=2X+7Z
@) X=3(BM-2)

4 X-M=3X-2)
(5) Question not attempted

Match the items of List-I with the
items of List-II and choose the
correct answer from the codes
given below :

List-1 List-II
(a) Balance (i) Imports and
of Trade exports of goods
and services,
unilateral
transfers and
factor incomes
from abroad.
(b) Current  (ii) Transaction
Account relating to
changes in

financial assets
and liabilities of
a country.

(c) Balance (iii) Record of all
of economic
Payments transactions

between a
country’s
residents and
residents of
other countries.

(d) Capital (iv) Value of exports
Account and imports of

visible items of
a country.
Codes:

(@ () ( (@
iv) (@) (@) @G
i) () 3Gi) ()
(i) (@) @v) @G
() @) @ @
Question not attempted
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20.

Among them, which are positional
average ?

(1) Mode

(i1) Arithmetic Mean

(ii1) Median

(iv) Harmonic Mean

Codes :

(1) Only (i) and (ii)

(2) Only (i), (ii) and (1ii)

(3) Only (i) and (ii1)

(4) (), (i), (iii) and (iv) All
(5) Question not attempted

Consider the following statements :

A. The sum of squares of deviations
of a set of values is minimum
when taken from the mean.

B. Median is a positional average.

Choose the correct option :

- (1) Only A is correct.

(2) Only B is correct.

(3) Both A and B are correct.
(4) Both A and B are incorrect.
(5) Question not attempted

A monopolist faces the following
demand and total cost functions :
Demand Function : Q = 360 — 20P

Total Cost Function : TC = 6Q + 0.05 Q2

To maximize profits, the
monopolist should produce how
many units ?

(1) 30 units (2) 60 units
(3) 90 units (4) 120 units
(5) Question not attempted

What happens to the Arithmetic

Mean if each observation is

multiplied by a constant ?

(1) Arithmetic Mean
unchanged.

(2) Arithmetic Mean is multiplied
by constant.

(3) Arithmetic Mean is divided by
constant.

(4) Arithmetic Mean is increased
by constant.

(5) Question not attempted
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22.

The terms of trade refers to
(1) The excess of imports over

exports.

(2) Trade agreements between two
countries.

(3) The ratio between export

prices and import prices.

(4) Consensus on tariff between
two countries.

(5) Question not attempted

Which of the following statements

is/are correct ?

A. Substitution effect 1is the
change in consumption of a
good associated with the
change in its price with the
level of utility held constant.

B. Income effect is the change in
consumption of a  good
resulting from an increase in
purchasing power with relative
prices held constant.

Choose the correct option :

(1) Only A is correct.

(2) Only B is correct.

(3) Both A and B are correct.

(4) Both A and B are incorrect.

(5) Question not attempted

After reaching the saturation

point, consumption of additional

units of the commodity cause :

(1) total utility to become negative
and marginal utility to fall.

(2) total |utility to fall and
marginal utility to become
negative. :

(3) total utility and marginal

utility both to increase.
total utility to fall
marginal utility to increase.
(5) Question not attempted

and

(4)
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24,

25.

26.

Consider the following statements

regarding Engel curve :

(A) The Engel curve shows the
relationship between the levels
of income and quantity
purchased of particular
commodity.

(B) According to Engel’s studies, as
the income of a family
increases, the proportion of its
income spent on necessities
increases and that spent on
luxuries decreases.

Select the correct answer using the

codes given below :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) (A) and (B) both are correct.

(4) Neither (A) nor (B) is correct.-

(5) Question not attempted

Under the barometric price

leadership model, which firm is

chosen as leader ?

(1) Dominant firm

(2) Low cost firm

(3) High profit earning firm -

(4) Firm having ability to forecast
cost and demand conditions
and changes in the overall
economic conditions.

(56) Question not attempted

Consider the following statements :

(A) A straight line indifference
curve would mean that
marginal rate of substitution ‘x
for ‘y’ remains constant.

(B) A concave to origin indifference
curve would mean that the
marginal rate of substitution of
x’ for 'y’ is decreasing.

(C) A convex to origin indifference
curve would mean that the
marginal rate of substitution of
‘¢’ for ‘y’ is increasing.

Select the correct answer from the

codes given below :

Codes:

(1) A), (B)and (C) (2) (B)and (C)

3 (A)and (C) - (4) Only (4)

(5) Question not attempted

: (=
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In the duopoly model in which both
firms produce a homogeneous good,
each firm treats the output of its
competitor as fixed and both firm
decide simultaneously how much
to produce is known as -

(1) Stackelberg model .

(2) Cournot model -

(3) Chamberlin’s model

(4) Bertrand’s model

(5) Question not. attempted

. Assertion (A) : Accordmg to the

theories of Chamberlin and
Joan Robinson under
monopolistic competition or
imperfect competition, in long-
run equilibrium produces an
output which' is less than
socially optimum output.

Reason (R) : Firms operate at the
point on the rising portion of
long-run "average cost curve
under monopoelistic competltmn
or imperfect competition.

Codes :

(1) Both (A) and (R) are correct
and (R) ‘is the correct
explanation of (A).

(2) Both (A) and (R) are correct
but (R) is not the -correct

explanation of (A).

(3) (A) 1is correct but (R) is
incorrect. -

(4) (A) is incorrect but (R) is
correct.

(5) Question not attempted

. Pure oligopoly is a market

situation where :
(1) There are few firms producing
homogeneous goods.

(2) There are few firms producing
close substitutes.

(8) There are few firms producing
complementary goods.

(4) There are two or more
monopolistic firms.

(5) Question not attempted
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Assertion (A) : Increase in income
always leads to an increase in
both consumption and saving.

Reason (R) When income
increases, consumption
expenditure also increases but by
a smaller amount.

Codes :

(1) Both (A) and (R) are correct and
(R) is the correct explanation of

A).

(2) Both (A) and (R) are correct, but
(];‘{)( }5‘. not the correct explanation
of (A).

(3) (A)is correct, (R) is incorrect.

54) Both (A) and (R) are incorrect.

5) Question not attempted

What increase in investment is
needed to raise income by ¥ 4,000
crores if MPC is 0.75 ?

(1) ¥ 2,000 crores (2% ¥ 1,500 crores
(3) T1,000 crores (4) ¥ 1,600 crores
(6) Question not attempted

Which of the following is not correct
regarding accelerator principle of
investment ?

(1) It was developed by Clark.

(2) It shows the technological
relationship between change in
capital stock due to change in
level of output.

(@) It is based on the assumption
that there is excess production
capacity in the economy.

(4) It reveals that the investment is
a function of the change in the
level of income.

(5) Question not attempted

A kinked demand curve occurs in an

oligopoly when a firm

() Increases its price and others
follow it.

(b) increases its price and others do
not follow it.

(c) decreases its price and others
follow it.

(d) decreases its price and others do
not follow it.

Select the correct answer using the

codes given below :

Codes:

(1) (@and(d) (2) only(a)

(3) (b)and(c) (4) only(c)

(5) Question not attempted
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34. Relative income hypothesis suggests :

35.

36.

A. A proportionate increase in

relative  income causes a
proportionate ncrease m
consumption.

B. A proportionate increase in
relative income does not cause a

proportlonate « increase in
consumption.

C. A proportionate  decrease in
relative  income causes a
proportionate . decrease in
consumption.

D. Consumption does not decrease
in proportion to decrease in
income.

Choose the correct option :

(1) Only A and B are correct.

(2) Only B and C are correct.

(3) Only C and D are correct.

(4) Only A and D are correct.

(5) Question not attempted

What is not correct regarding

Cambridge Approach to Quantity

Theory of Money ?

(1) It lays emphasis on store of
value function of money.

(2) It treats money as a flow
concept.

(3) It considers both demand and

supply of money in

determination of value of money.

4 K in Cambridge equation
depends on psychological factors.

(5) Question not attempted

In his theory of Trade Cycle, Hicks

used :

A. Keynesian concept of saving-
investment relationship and the
multiplier.

B. Clark’s accelerator principle.

C. Samuelson’s multiplier
accelerator interaction.

D. Harrod-Domar growth model.

Choose the correct option :

(1) Only A, B and C are correct.

(2) Only B, C and D are correct.

(3) Only A, C and D are correct.

(4) All A, B, C and D are correct.

(5) Question not attempted

43



317.

38.

39.

43

. 3)

“aerar I’ i fefa it 8

(1) Hg1 | 556 %1 98 fgean S quiean
AR B 2 |

g % | 5k 1 9 T S quiern
SAEGR BT € |

51 i 956 T 98 Taen it gqufaan
SAIER BT 2 |

51 % il a5h 1 98 Teen St quteran
YAEGR e |

HAFTARA T

SR gerehif w1 frg w9 § aftfg e mn
?7
(1
(2)
3

@
3
4

(5)

RS GTehifer — $er Ferehifa
WTEl FETEHI — $e qrehife
AT qEehifa — (@ gErehifa
+ U ETEhIfa)

TEATEH GETEhiT — @ gErehifa
IR

MR 9% & a7 = sl W oam

ey :

(a) SATIR =5k h! IR e & — HfE,
IR, AT 3R I3 |

(b) 3T, 1A 3R TSR & v Jhg
T =TT <) 8 |

S HYET 3 & I T/ TI /8 2
(1) %9t (a) qAR |

(2) Faa (b)TAR |

(a) 3R (b) A T |

A (a) IRATE () TR |
AN I

(4)
®)

(4)
®)

13

i 37.

|
|
|
|

|
|

|
|
|
|
|
|
|
|
|

38.

39.

‘Liquidity Trap’ ~ situation
represents

(1) that portion ‘of demand for
money curve which is perfectly
elastic.

that portion of demand for
money curve which is perfectly
inelastic.

that portion of money supply

curve which is perfectly elastic.

(2)

3

(4) that portion of money supply
curve which is perfectly
inelastic.

(5) Question not attempted

Core inflation can be represented
as — :

(1) Headline inflation - Fuel
inflation

(2) Food inflation — Fuel inflation

(3) Headline inflation — (Food
inflation + fuel inflation)

(4) Headline inflation - Food
inflation

(5) Question not attempted

Consider the following statements
about business cycles :

. (@) The four phases of business

cycles are
recession,
recovery.

(b) The phase of a gradual rise in
income, output and
employment is depression.

Which of the above statements

is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Both (a) and (b) are true.

(4) Neither (a) nor (b) is true.

(5) Question not attempted

prosperity,
depression and
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40. A process patent means

41.

42.

(1) the end product is patented.

(2) manufacturing process is
patented.

(3) invention is patented.

(4) manufacturing process, end
product and invention all are
patented.

(5) Question not attempted

Assertion (A) : An anti-depression
tax policy must increase
disposable income, promote
consumption and investment.

Reason (R) : A tax reduction will
leave larger funds with the
community for disposition and
give greater impetus to the
spending activity.

Codes:

(1) Both (A) and (R) are true and
(R) is the correct explanation of
A).

(2) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(3) (A) is true but (R) is false.

(4) (R) is true but (A) is false.

(5) Question not attempted

Consider the following regarding

Phillips curve :

(A) Phillips curve represents that
a higher rate of increase in
aggregate demand and
consequently a higher rate of
rise in price level is associated
with a lower rate of
unemployment and vice-versa.

(B) The Phillips curve displays no
relationship between output
and the rate of inflation, when
aggregate supply is vertical.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

(5) Question not attempted
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43.

44.

45.

46.

Consider the following statements
for fiscal policy :

(a) During the years of prosperity
and inflation, excessive
spending activity is curbed
through budgetary surpluses.
The budgetary deficits during
recession and unemployment,
pump the extra purchasing
power in the economy.

Of these statements :

(1) Only (a) is true.

(2) Only (b) is true.

(3) Both (a) and (b) are true.

(4) Neither (a) nor (b) is true.

(5) Question not attempted

(b)

Dumping is :

(1) selling in foreign market at
reasonable profit.

(2) sales in foreign market at
exorbitant profits.

(3) sales of raw material in foreign
market at high prices.

(4) selling huge quantity of
products at rock-bottom prices
in foreign markets.

(56) Question not attempted

By which of the following

economist infant industry

argument was popularized against
free trade ?

(1) Hamilton  (2) Friedrich List

(3) Adam Smith (4) Ricardo
(5) Question not attempted

Which kind of expenses do not

form part of revenue expenditure

of government ?

(1) Expenditure on running public
health and education services.

(2) Salaries and pensions to
Central Government employees.

(3) Repayment of loans

(4) Major subsidies

(5) Question not attempted
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47.

48.

49,

4

Offer curve of a country represents —

(1) Demand curve for importable
goods.

(2) Supply curve for exportable
goods.

(3) Supply curve for importable

~ goods.

Both demand and supply curve

of a country.

(56) Question not attempted

Consider the following statements

regarding immiserising growth :

(A) It was first proposed by Prof.
Jagdish Bhagwati.

(B) It implies growth that expands
country’s willingness to trade
can result in large scale decline
in the country’s terms of trade,
so that the country is worse off.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(5) Question not attempted

Assertion (A) Ricardian
comparative advantage theory
is considered as one sided
theory.

Reason (R) : Ricardian theory
considers only supply side of
the international trade.

Codes :

(1) (A) is true and (R) is the
correct explanation of (A).
(2

(A) is true but (R) is not the
correct explanation of (A).

(A) is true but (R) is false.
(A) is false but (R) is true.
Question not attempted

3
(4)
®)
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50.

51.

52.

53.

54.

Which of the following is the
highest decision making body of
World Trade Organisation ?

(1) Governing Council

(2) General Council

(8) Ministerial Conferences

(4) Board of Governors

(5) Question not attempted

Which country became the member
of WTO on 30th August, 2024 ?

(1) Timor - Leste

(2) Comoros

(3) South Sudan

(4) Somalia

(5) Question not attempted

Which country is the largest
contributor in total Foreign Direct
Investment inflow in India for the
financial year 2023-24 ?

@)K (2) Singapore
(3) U.S.A. (4) Netherlands
(5) Question not attempted

Under WTO arrangement, in
which of the following category
agricultural subsidies causing
minimal distortion in international
trade are included ?

(1) Blue Box (2) Green Box
(3) Red Box (4) Orange Box
(5) Question not attempted

Which of the foIlowing statement is
correct ?

(1) The gross barter terms of trade
uses price index for exports
and imports.

The net barter terms of trade
concept uses quantity index for
exports and imports.

The distinction between gross
and net barter terms of trade
was introduced by Taussig in
1927.

The concept of terms of trade
used in the theory of reciprocal
demand is in net barter terms
of trade sense.

(5) Question not attempted

)

3

4)
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55.

56.

57.

What is not correct regarding HDI

in India ?

(1) India’s HDI  value
increased to 0.644 in 2022.

has

(2) In 2022, India’s HDI rank is
135 out of 193 countries.

(3) In 2022, India saw
improvement as HDI

indicators of life expectancy
and GNI per capita.

(4) In 2022 life expectancy rose
from 67.2 to 67.7 years.

(5) Question not attempted

Consider the following statements
about Multidimensional Poverty
Index of India :

(a) India’s Multidimensional
Poverty Index declined from
29.17 % in 2013-14 to 11.28 %
in 2022-23.

All 12 indicators of MPI have
recorded significant improvement
in India.

The NITI Aayog releases the
National Multidimensional
Poverty Index (MPI) for India.
Which of the above statements are
true ?

(1) Only (a) and (b) are true.

(2) Only (a) and (c) are true.

(3) Only (b) and (c) are true.

(4) (a), (b) and (c) are true.

(5) Question not attempted

Assertion (A) : IBRD was created
to provide long term finance for
economic  development at
reasonable rate of interest.

Reason (R) : IMF was created to

solve short term balance

‘payment problems of member

countries.

Both (A) and (R) are true and

(Eg is the correct explanation of

(A).

Both (A) and (R) are true but

(R) is not the correct

explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

(b)

(©

1)

(2)

(3)
(4)
(5)
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58.

59.

60.

61.
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® QD.=55(MD)

3t & fafirs wml & offe 99y o e
! TqAT

(1) QD.= % c (S.D.)

@ o (SD)=25MD)

(4) 5(M.D.)=§c(s.D.)

(5) HTE S '
Sievargen e & Ty g 2
(1) 59 50% Te} &1

2) =™ 50% i &1

(8) WA 50% YTl HT

(4) 3fEa 50% Tet w1

(5) 3TFaRE I

600 #ftepi aTelt TH HH H AW F
fao & yaor &1 ne @ R, Rrger
JEd a9 T 200 8 3R gfiesl & =
Hergdt ok ferawor & SEROT 100 R ?

1) 5%
@ 4%
@) 4.5%
4) 5.5% |

(5) IrgaRa g

27
(1)
2)
3
(4)
(5)

RO ATE

19

58.

59.

60.

'ﬁnﬁam@immﬂmmm! 61.

Tick out the wrong relationship
between measures of dispersion :

) Q.D.=§c(s.n.)
@ o (S.D.) =§5 M.D.)
3) Q.D. =§a M.D.)

4) s(M.D.) = % o (S.D.)

(5) Question not attempted

The interquartile range includes
(1) First 50% of the items

(2) Last 50% of the items

(8) Central 50% of the items

(4) Average 50% of the items
(5) Question not attempted

What is the coefficient of variance
of distribution of wages of a firm
with 600 workers whose average
wage. is ¥ 200 and the variance of

distribution of wages among
workers is 100 ?

1) 5% (2) 4%

(3) 4.5% 4) 5.5%

(5) Question not attempted

Which of the following is called
averages of the second order ?

(1) Arithmetic mean

(2) Mode

(3) Medium

(4) Measures of dispersion
(5) Question not attempted
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63.

Which of the following is not the

target of ‘Rajasthan Mineral Policy
2024’ ?

(1) Expand the existing 0.68
percent mineral concession
area to 2.0 percent by 2029-30.

Expand the number of
minerals under extraction to
70 by 2047.

Enhance the mineral sector’s
contribution in state’s GSDP to
5 percent by 2029-30 and to 8
percent by 2046-47.

Provide employment to 50
lakhs people by 2029-30 and
over 1 crore people by 2046-47.

@)

3)

(4)

(5) Question not attempted

Consider the following statements
regarding the Karl Pearson’s
properties of  coefficient of
correlation (r) :

(1) Value of r’ lies between +1 to
—1.

(ii) ‘r is geometric mean of two
regression coefficients.

(ii1) ‘v’ is independent of change in
scale and origin.

(iv) The degree of relationship
between two variables is
symmetric.

From above, which statements-are
true ?

Codes:
(1) Only (@), (i1) & (ii1)
(2) Only (i), (i) & (iv)
(3) Only (11), (ii1) & (iv)
4) @, (), (iil) & (v)
(5) Question not attempted
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65.
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AT HEshi H TS %1 J9T
WHR 9¥ 2020-21 % 60 ¥ T I8
2023-24 % 67 @1 8, oo =9 h
feufer Tt & the-wr Aoft 7 @ 1
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1) (A 3R ®) I 77 € 3R R),
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(3) (A) TR, dfeed (R) A8 2 |
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HEAg |
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fireham 3g 50 ¢ |
(©) T A % s 60 9 B sy |
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I
|
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2) () 3R (c) @ £ |
(3) (a) 3N (c) w2 |
COROROEINOEEES
(5) IIANd ¥
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64. Assertion (A)

: In Sustainable
Development Goals India Index,
Rajasthan has improved its
overall SDGs score from 60 in
2020-21 to 67 in 2023-24,
moved its position from
performer to front runner
category.

Reason (R) : In this index the
State has made notable
progress in SDG 7 (affordable
and clean energy), achieving a
perfect score of 100 followed by
notable achievements in goal 1,
12, 5 and 10.

(1) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(2) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

(5) Question not attempted

Which of the following statements
are correct about Atal Pension
Yojana ?

(a) The scheme’s focus is on
workers of unorganized sector.

(b) The minimum age of eligibility
18 18 years and maximum age
is 50 years.

(¢) Under the scheme guaranteed
minimum pension of ¥ 1,000
per month and upto ¥ 5,000 per
month is given after attaining
the age of 60 years.

Codes:

(1) (a) and (b) are correct.

(2) (b) and (c) are correct.

(3) (a) and (c) are correct.

(4) (a), (b) and (c) are correct.

(56) Question not attempted




66.

67.

68.

69.

= 4 9 19 91 TR %1 2028-29 T
TH T 1 HETehial a6 & 7

(1) 350 fferm sier i referamen
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(1) e
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(3) U
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66.

67.

68.

69.

Which of the following is the
Rajasthan’s ambitious goal of
achieving by 2028-29 ?

(1) 350 Billion $ economy

(2) 300 Billion $ economy

(3) 400 Billion $ economy

(4) 500 Billion $ economy

(5) Question not attempted

Which place does not have an
inland container depot  of
Rajasthan Small Industries
Corporation Limited ?

(1) Kota (2) Jaipur

(8) Jodhpur (4) Bhilwara
(5) Question not attempted

Under Agriculture Infrastructure

Fund Scheme of Rajasthan :

(1) an interest subsidy of 3 percent
per annum is given on all loans
upto the limit of 2.00 crores.

(2) an interest subsidy of 4 percent
per annum is given on all loans
upto the limit of 1.0 crore on
the timely repayment.

(3) Long term loan is being

provided to farmers for
agriculture infrastructure at
concessional rate.

(4) Government create
infrastructure related to
irrigation with World Bank
assistance.

(5) Question not attempted

For the financial year 2022-23, in
which of the following crop,
Rajasthan has not secured first
position ?

(1) Rape-seed & Mustard

(2) Jowar

(3) Bajra

(4) Total oilseeds

(5) Question not attempted
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1.
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70. Which of the following is not the
feature of Spearman’s rank
correlation method ?

(1) It can be interpreted in the
same manner as Pearson’s
correlation coefficient.

(2) The sum of difference of ranks
between two variables shall be
Zero.

(3) It is a parametric method.

(4) It is based on ranks.

(5) Question not attempted

71. According to the recommendation
of Rajasthan State Finance
Commission-VI, what is the ratio
for the distribution of amount
among Zila Parishad, Panchayat
Samiti and Gram Panchayat
respectively ?

() 7.5:20:72.5

(2) 10:20:70

(8) 5 :20:7b

(4) 16:15:70

(6) Question not attempted

72. Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-II
(Crops) (Rates of premium
under Pradhan
Mantri Fasal Bima

Yojana)
(A) Rabi crop (1) 2.0 percent
(B) Kharifcrop (ii)) 5.0 percent

(C) Commercial
crop/
horticultural
crops
Codes :

A) B) (©)
@) (@) - G): @)
(2) (i) @ @)
(3 @) @) @G
(4) () @Gi) @
(56) Question not attempted

(111) 1.5 percent




73.

74.

75.

76.
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73.

74.

75.

How much assistance amount is
provided for the marriage of a
graduate pass girl of
SC/ST/minority BPL fami]y under
Mukhyamantri Kanyadaan Yojana
in Rajasthan ?

(1) 21,000 (2) ¥ 31,000

(3) T 41,000 (4).- ¥ 51,000
(5) Question not attempted

New Welfare Economics extends

traditional welfare analysis by :

(1) Focus solely on Pareto optimal
outcomes.

(2) Recommending no government
intervention under any
circumstance.

(3) Ignoring
consequences
efficiency.

(4) Evaluating policy changes
based on compensation criteria
and distributional effects.

(5) Question not attempted

distributional
in favour of

Assertion (A) : . Externalities
create a divergence between
private and social costs and
benefits.

Reason (R) : Externalities are not
reflected in market prices,
these prices provide misleading
information for' an optimal
allocation of resources.

(1) Both (A) and (R) are
and (R) is the
explanation of (A).

(2) Both (A) and (R) are
but (R) is not the
explanation of (A).

(3) (A) is correct but
incorrect.

@ ®) is
incorrect.

(5) Question not attempted

correct
correct

correct
correct

(R)
correct. but (A)

18

18

. Rajasthan M-Sand Policy 2024 is

related to

(1) Transport sector

(2) Export sector

(38) Construction sector

(4) Information technology sector
(5) Question not attempted
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78.

79.
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77. Which of the following is not the

obstacles in the attainment of

Pareto optimality ?

(1) Imperfect competition

(2) The presence of externalities

(3). The consumption of public
rgoods

(4): Consumer sovereignty

(5)-Question not attempted

Which of following assumptions is
correct about new  welfare
economics ?

(1) The satisfaction of individuals
.is dependent on each other.

(2)“There exist no externalities of
consumption and production.

(3)-The problems of production
“and exchange cannot be
separated from the problems of
distribution.

(4) Utility can be measured
cardinally and inter-personal
comparisons of utilities are
-possible.

(5) “Question not attempted

Which of the following situations
create market failure ?

(a) Perfect competition
(b) Externalities

(¢) Imperfect competition
(d) Public goods

Select the correct answer using -
codes given below :

Codes :

(1) Only (c) is correct.

(2) Only (b) and (c) are correct.

(3) Only (b), (c) and (d) are correct.
(4) Only (a), (b) and (d) are correct.
(5) Question not attempted
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, 80.

81.

N
()]

The elasticity of LM function
depends

(a) upon the shape and elasticity
of money supply curve.

(b)

upon the relationship between
the liquidity preference for

transaction motive and
changes in income.
(¢) upon the expectations

regarding future interest rates.
Which of the above are correct ?
(1) Only (a) and (b)
(2) Only (b) and (c)
(3) Only (a) and (c)
(4) All (a), (b) and (c)
(5) Question not attempted

Which of the following statements
are correct about Swan model ?
Select the correct answer using the
codes given below :

(1) Swan model is concerned with
twin balances — Internal and
External.

(i) Swan model discusses use of
two policy instruments -
Exchange rate and Fiscal policy.

(iii) Swan model assumed that
Marshall — Lerner condition is
satisfied.

(iv) Swan model considers that
capital is perfectly immobile.

Codes:

(1) Only (i) and (iv) are correct.
(2) Only (i) and (iii) are correct.
(3) Only (ii) and (iii) are correct.
(4) (1), (i) (iii) and (iv) are correct.
(5) Question not attempted
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82. Consider the following statements

83.

about real market :

(i) The real market is in
equilibrium when saving and
investment are equal or the
aggregate demand for goods
just equal the aggregate supply.

(i1) If the amount of saving exceeds
investment or the aggregate
supply is greater than the
aggregate demand, the level of
income in the community will
increase.

Which of the above statements
is/are true ?

(1) Only (i) is true.

(2) Only (i) is true.

(3) (i) and (ii) both are true.
(4) Neither (i) nor (ii) is true.
(5) Question not attempted

Which of following statements is
not correct about Mundell -
Fleming model ?

(1) Mundell — Fleming model is an
open economy version of the
IS-LM model.

The LM curve in Mundell —
Fleming model is same as in
the case of closed economy
model.

@)

Price level is assumed to be
fixed in Mundell — Fleming
model.

3

(4) The balance of payments curve
is upward — sloping in the case
of perfect capital mobility in

Mundell — Fleming model.
(5) Question not attempted
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Tt Aife s worh ERft | |
w®: |
() e () 7 i) | |
(2) hee (if) 7o Giid) WEE | ;
(3) Faet (i) a0 (iv) T & | |
(4) had (ii) 7UT (iv) FE & | |
(5) FRd S |

WA Te |
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84.

Which of the following is not
correct about the Kaldor model ?

(1) Kaldor model is based on the
assumption of a constant
saving-income ratio.

(2) Kaldor assume a state of full
employment so that total
output or income is given.

(3) In this model national income
or output consists of wages and
profits only.

(4) The investment-output ratio is
an independent variable in this
model.

(6) Question not attempted

Read following statements and
select correct answer using codes
given below :

(i) When the IS curve is relatively
flat, monetary policy is more
effective and fiscal policy is
less effective.

(i) When the IS curve is relatively
flat, monetary policy is less
effective and fiscal policy is
more effective.

(1i1) When the LM curve is
relatively flat, monetary policy
is more effective and fiscal
policy is less effective.

(iv) When the LM curve is
relatively flat, monetary policy
is less effective and fiscal
policy is more effective.

Codes:

(1) Only (i) and (ii) are correct.

(2) Only (i) and (iii) are correct.

(3) Only (1) and (iv) are correct.

(4) Only (ii) and (iv) are correct.

(5) Question not attempted
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86.

87.

88.
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86.

87.

88.

In the Harrod’s model of economic
growth, actual rate of growth is
determined by

- (1) the saving ratio and
incremental capital output
ratio

(2) the full utilization of a growing
stock of capital

(38) the working .population and
current available technology

(4) the full utilization of all
economic resources available

(5) Question not attempted

Under the Solow model, a neutral
technological change means

(1) Downward shift in output
curve.

(2) Downward shift in savings
curve.

(8) Upward shift in the production
function.

(4) No effect on capital and output
curve.

(5) Question not attempted

Which of the following is a correct
chronological order of publication
of growth and development models ?

(1) Lewis model, Domar model,
Solow model, Kaldor model

(2) Lewis model, Kaldor model,
Solow model, Domar model

(3) Domar model, Lewis model,
Solow model, Kaldor model

(4) Domar model, Lewis model,
Kaldor model, Solow model

(5) Question not attempted
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89.

90.

91.

Consider the following statements

regarding regression line :

(a) The regression line of y on x
gives the most probable values
of y for given value of x.

(b) The regression line of x on y
gives the most probable values
of x for given value of y.

Which of the above statements

is/are correct ?

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)

(4) Neither (a) nor (b)

(5) Question not attempted

When there 1is either

positive or perfect negative

correlation between the two

variables (r = + 1), the regression

line will be

(1) only one line

(2) only two lines

(3) two lines parallel to each other

(4) two straight lines starting from
origin

(5) Question not attempted

perfect

Which of the following factors can

stop the process of economic

growth in Lewis model ?

(1) Decline of population
subsistence sector

(i1) Terms of trade turn against
capitalist sector

(iil) Increase in wage
subsistence sector

(iv) Decline in capitalist surplus
and rate of capital
accumulation

Options : :

(1) Only (i) and (iii) are correct.

(2) Only (1) and (iv) are correct.

(3) Only (i), (iii) and (iv) are correct.

(4) Only (i), (i) @iii) and (iv) are
correct.

(5) Question not attempted

in

rate in
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92.

93.

94.

95.

43
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Q) et fafy
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(1) 0.15

(2) 0.20

(3) 0.60

(4) 0.35

(5) ITFaNG T

13
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92. Type I error is defined as :

93.

94.

95.

(1) Reject null- hypothesus when it
is false.

(2) Reject null-hypothesis when it
is true.

(3) Accept null-hypothesis when it
is true.

(4) Accept null- hypothe51s when it
is false.

(5) Question not attempted

Which among the following is not
considered as Random sampling
method ?

(1) Deliberate sampling method
(2) Lottery method

(8) Tripplet method

(4) Systematic sampling method
(5) Question not attempted

Which of the following statements
correctly describes the process of
privatisation ?

(1) The  privatization

involves transferring a

company to a non-profit

organization.

This process

sourcing services

companies.

This process involves selling off

a few public sector units to the

private sector.

(4) This process involves engaging
the private staff in public
sector units.

(5) Question not attempted

process

out-
other

involves
to

(2)

3)

A speaks truth in 75 percent of
cases and B tells a lie in 20 percent
of cases. What is the probability
that they will contradict each other
in stating the same fact ?

(1).0:15 (2) 0.20

(3) 0.60 (4) 0.35

(5) Question not attempted
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97.

98.

99.

of the following policy

measure is not a part of

globalization ?

(1) . Exchange rate adjustment and
rupee convertibility

(2) Import liberalisation

(3) Disinvestment of public sector
enterprises

(4) Opening Indian economy to
foreign capital

(5) Question not attempted

Which of the following statement is
not correct regarding financial
crisis in India in 1991 ?

(1) Government was not able to
make repayments on its
borrowing from abroad.

The crisis was compounded by
rising price of essential goods.
India did not agree to the
conditionalities of World Bank
and IMF.

Foreign Exchange Reserves
declined to a level that was not
adequate to finance imports for
more than two weeks.

(5) Question not attempted

()
3)

€

Which of following statements is

not correct about public goods ?

(1) Public goods are non-rival in
consumption.

(2) Public goods are non- -exclusive
in consumption.

(3) Public goods face the problem

of free rider.

(4) The problem of free rider

becomes less acute as the

group size increases.

(5) Question not attempted

Which of the following committee
was set-up in 1991 for ﬁnanc1al
sector reforms in India ?

(1) Narasimham Committee - I

(2) Narasimham Committee - IT
(3) Vijay Kelkar Committee

(4) Chelliah Committee

(5) Question not attempted
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100.

101.

@)

(i1) Revenue (b)

What is effect of allowing input tax

credit under GST system ?

(1) It helps avoid double taxation.

(2) It helps avoid tax evasion.

(8) It creates progressive tax system.

(4) It increases government tax
revenue.

(5)

Question not attempted
Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-IT _
Budget (a) Total expenditure
deficit - (Revenue

receipts + Non
debt creating

capital receipts)
Fiscal deficit -

deficit Net interest
. liabilities
(ii1) Fiscal © (¢) Revenue
deficit.. expenditure -

(iv) Primary (d)

102. S ﬁﬁwﬁaﬁmm%lwz

43

Y A B 9T FUT T AL R ?

(1) w@em o4 B e e |

Fifier § T Wad =, sﬁa’rﬁ@!

& IE3TT H |

T 5 3R ISt W STeT- :ﬂmaa%!

ferhet St TefRid foha | !

)] Saﬁwaﬂtﬁ;rﬁmégﬁmﬁ%n!
wfewer wefdfa foram |

(4) aﬁﬁmmwa’%ﬁhmﬁl
Frutfa ammmn ? | |

(5) I e i

)
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Revenue receipts
Total expenditure
deficit — Total receipts
Codes:

(i) (i) (i) (v)
(1) d) & @ @®
2) (@ M) @ (@
3 @ L G (2
4) () (@ ®) (©
(5) Question not attempted

Which of the following statement is
not correct regarding Solow neo-
classical growth model ?

(1) It introduced an independent
variable, technology to the
Harrod Domar growth equation.
It exhibited increasing returns to
labour and capital separately.

It exhibited constant returns to
labour and capital jointly.

The level of technological
progress was assumed to be
determined exogeneously.
Question not attempted

@
©)
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103. 1 § & =4 ot 2eu=R-aTefea g | 103. Which of the following is not an

H A=A TR ? aﬁsuml?)tion of Heckscher — Ohlin

st : ik theory 7

(1) A EIE'§Q T:ﬁfﬁ < # R & fRR (1) Both commodities are produced

gfowert % fea IcdTfea il St under constant returns to scale
| 1n both nations.

5 e g
¢ A N N : S (2) There i 18 complete

2) i e A A - specialization in production in
g1 both nations.

(3) I < H T%g IR TWHA gHI SIS (8) There is perfect competition in
 qof wfreqaf £ | both commodity and factor
a:.i".u{ S iﬁ?{ i markets in both nations.

(4) ! o ST SR (4) International trade between
TG & | two nations is balanced.

(5) ITEId 59 (5) Question not attempted

104. gTeA-hma e g & gy # | 104, Consider the following statements
et o R regarding the factor  price
= = ﬁ._ : equalization theorem :

(&) T wrem i 3 A 1 qerd (A) Equalization of absolute factor
2 % waa saig SR gl e | prices means that free
I9F THR & FH & o0 Idfas international trade also
q@ e equalizes the real wages for

it W I the same type of labour in the

(B) fAder gre himdi § qHMdT 1 aredd two nations.

2 o5 wam ratiga SR gl e o (B) Equalization of absolute factor
O THR & O ¥ STt prices means that free
S aﬁﬁaﬁmﬁq international trade also
; equalizes the real rate of
g faed 94 interest for the same type of
(1) Fae1 (A) T2 | capital in the two nations.
Choose the correct option :

2) =5 (B) H_é%l ; (1) Only (A) is correct.

(3) (A) 3R (B)QHIwe & | (2) Only (B) is correct.

@) (A) 3R (B) eI e § | i (3) Both (A) and (B) are correct.

- | (4) Both (A) and (B) are incorrect.

(5) 3TN ¥ i (5) Question not attempted

|
105, TRf% wa&or 2024-25 % FIAR, I | 105. As per economic survey 2024-25,
2022 ¥ favg foatdt § Wi =1 fawmm on ] India’s share in world exports in
& £ the year 2022 was

1) 15 @) 1= % (1) 1.5 percent (2) 1.8 percent

3) 20vkwa (4) 2.2vkwd | (8) 2.0 percent (4) 2.2 percent

(5) AR I ' (5) Question not attempted

(=] 34 43
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106.

107.

(a)

()
(©

(d)

Consider the following statements
regarding National Food Security
Act, 2013 :

(A) It has ‘rights based approach’
to food security.

(B) The Guiding principle of this
Act is ‘Life Cycle Approach’.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.
(56) Question not attempted

Match the following factors with
the communication barriers :
- Factors Communication
Barriers

Visual (1) Fixed ideas
perception

Prejudice (i) Habits

Feelings (i11) Judging people

by their look

Personal (iv) Lack of interest
factor

108.

Choose the correct code :
@ @) (© (@
(1) @) @ (v G
(2) Gv) () G @
3 @ @G Gv) (i)
(49 @@ (v @ (i)
(5) Question not attempted

What is the number of Sustainable
Development Goals set by UN 2030
Agenda for Sustainable
Development ?

(1) 13 (2) 715

(3) 17 4) 19

(5) Question not attempted
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109. Which of the following statements

are incorrect in reference to

inquiry training teaching model ?

(a) Students inquire naturally,
when they are puzzled.

(b) Students become conscious of
and learn to analyze their
thinking strategies.

(¢) Old strategies can be taught
directly to inquire, not new
strategies.

(d) Cooperative inquiry degrades
thinking power of students.

Choose the correct code :

(1) (a) and (b)

(2) (c) and (d)

(3) (a) and (c)

(4) (b) and (d)

(5) Question not attempted

110. When a teacher intends to explain

the relationship between a whole
and its individual quantities to the
students, which type of graph will
be used by teacher as a teaching
learning material for data
presentation ?

(1) Bar graph

(2) Pictorial graph

(3) Pie graph

(4) Line graph

(5) Question not attempted

. Which of the following is not a

part of the second phase

‘presentation of learning task’ of

the ‘syntax’ of the ‘advance

organizer’ teaching model ?

(1) Presentation of learning
material.

(2) Making organization explicit.

(3) Making logical order of
learning material explicit.

(4) Promote active — reception
learning.

(5) Question not attempted
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112,

113.

|
|
I
|
| 114.
|
|
!
|
!
I

Which one of the following is not an
example of computer hardware ?

(1) Modem (2) Zip Drive
(3) LAN (4) Sound Card
(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-IT
High tech (i) Direct
teacher instruction
centered
approach
High tech (ii) Expeditionary
student learning
centered
approach
Low  tech (iii) Inquiry based
teacher learning
centered
approach
Low tech (iv) Flipped
student classroom
centered
approach

Codes :
A4 B -G D
(1) Gv) Gi) @) @)
(2) @) Gv) G @)
3 O () @) (@v)
(4) @@ @ (@Gv) (ii)
(5) Question not attempted
Which of the following is not an

element of cooperative learning ?
(1) Positive interdependence

(2) Individual and group
accountability
(3) Face to face interaction
(4) Competitive environment
(5) Question not attempted
o
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115.

116.

s w3 | 117

Which of .- ~the following
instructional mode can be
facilitated by Computer Assisted
Instruction (CAI) ?

(a) Tutorial mode

(b) Team mode

(¢) Gaming mode

(d) Problem solving mode

Select the correct answer using the
codes given below :

Codes:

(1) (a), (b) and (c)

(2) (a), (b) and (d)

(3) (b), (c) and (d)

(4) (a), (c)and (d)

(5) Question not attempted

Which of the following statements
regarding computer assisted
instruction are incorrect ?

(a) It is' the main source for
teachers to obtain facts and
information.

(b) It is not useful for developing
various skills among students.

(¢) It is useful in framing time
table.

(d) It does not help in the
evaluation process.

Select the correct answer using the

codes given below :

Codes:

(1) (@ and (b) (2) (a)and(c)

3) (b)and (d) (4) (b)and (c)

(5) Question not attempted

In a classroom situation discovery
method of teaching is used to
enhance quality learning. As per
parameter of educational system
‘quality learning’ is assessed in
which parameter ?

(1) Environment context

(2) Input

(38) Process

(4) Output

(5) Question not attempted
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118.

119.

120.

121

Consider the following statements :
(a) Implicit costs' are: ~ those
expenses which are incurred by
the firm in buying goods and
services directly.

Total variable costs are those
expenses of production which
change with the change in the
firm’s output.

Which of the statements given
above is/are correct ?

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)

(4) Neither (a) nor (b) .

(5) Question not attempted

Which of the following book of

Economics is written by Robbins ?

(1) The Nature and Significance of
Economic Science

(2) The Principles of Economics

(3) An Enquiry into the nature and
causes of the wealth of nations

(4) Elements of Economic Theory

(5) Question not attempted

Consider the following statements

regarding basic economic problems :

(A) How to produce is the problem
of choice of techniques of
production.

(B) What to produce is the problem
of allocation of resources.

(C) For whom to produce is the
problem of distribution of
national product.

Select the correct answer from the

codes given below :

Codes:

(1) Only (A) and (B)

(2) Only (B) and (C)

(3) Only (A) and (C)

(4) All (A), (B) and (C)

(5) Question not attempted

(b)

. In which of the following economy

private and public sector co-exist ?
(1) Capitalistic economy
(2) Communist economy
(3) Mixed economy
(4) Controlled economy
(5) Question not attempted
n]
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122. Consider the following statements :

123.

124.

12

A. In general, the demand for a

good moves in  opposite
direction of the price of its
complements.

B. The demand for a good usually
moves in the direction of the
price of its substitutes.

Choose the correct option :

(1) Both A and B are correct.

(2) Both A and B are incorrect.

(8) Only A is correct.

(4) Only B is correct.

(5) Question not attempted

The observation which occurs most
frequently in a sample is called —
(1) Arithmetic mean

(2) Mode

(8) Median

(4) Standard deviation

(5) Question not attempted

Which of the following statements

is/are true about the point
elasticity of demand ?
A. At the mid-point on the

demand curve, the elasticity of
demand is unity.

Elasticity becomes zero when
the demand curve touches the
Y-axis.

(1) Only A is true.

(2) Only B is true.

(8) A and B both are true.

(4) Neither A nor B is true.

(5) Question not attempted

B.

5. Stage-II of production begins at the

point

(1) of inflection of the total product
curve.

(2) where average and marginal
product are equal.

(3) where total product is at a
maximum.

(4) where marginal product is at a
maximum.

(5) Question not attempted
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126.

127.

128.

129.

Which form of monopoly regulation is
most advantageous for the consumer ?
(1) Price control

(2) Lump-sum tax

(3) Per-unit tax

@)

©)

(4) “All these three forms are equally

advantageous .

(5) Question not attempted

When the LAC curve is U-shaped and

has a flat bottom, it implies —

(1) Increasing returns to scale over a
wide range of output.

(2) Decreasing returns to scale over a
wide range of output.

(3) Constant returns to scale over a
wide range of output.

(4) No diseconomies of scale over a
wide range of output.

(6) ‘Question not attempted

Which of the following statements is

false ?

(1) Opportunity cost should be taken
into account while making
economic decisions.

A sunk cost after it has been

incurred should be ignored while
“making future economic

decisions.

Fixed costs cannot be eliminated

by stopping production for short

period

(4) The opportunity cost of

equipment that represents sunk
cost is generally zero.

(5) Question not attempted

Assertion (A) : Isoquants slope

downward from left to right.

Reason (R) : The convex1ty of equal

product curves is due to the
diminishing marginal rate of
technical substitutions.

Codes:

(1) Both (A) and (R) are true and (R)

is the correct explanation of (A).

(2) Both (A) and (R) are true but (R)

is not the correct explanation of
A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.
Question not attempted

(3)
(4)
®)
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130. Consider the following statements

131.

132.

and select the correct answer from

the codes given below :

(a) Under the perfect competition,
the demand for the firm’s
product becomes infinitely
elastic. -

(b) Under perfect competition, the
shape of the average revenue
curve is horizontal to the X-axis.

Codes

(1) Only (a) is true.

(2) Only (b) is true.

(3) Both (a) and (b) are true.

(4) Neither (a) nor (b) is true.

(5)  Question not attempted

Which of the following statements

is/are true ?

(A) In a perfectly competitive
market, an industry is in
equilibrium when there is no
tendency for the firms either to
leave or enter the industry.

(B) It implies that the average cost

curves are less than the average

revenue curve of all the firms in
the industry.

(1) Only (A) is true.

(2) Only (B) is true.

(3) (A) and (B) both are true.

(4) Neither (A) nor (B) is true.

(5) Question not attempted

Decreasing return to scale occurs

when

(1) Increase in all mputs in a glven
proportlon leads to increase in
output in a greater proportion.

(2) Increase in all inputs in a given
proportion leads to increase in
output in a smaller proportion.

(3) Decrease in all inputs in a given
proportion leads to increase in
output in a greater proportion.

(4) Decrease in all inputs in a given
proportion leads to an increase in
output in a smaller proportion.

(5) Question not attempted
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133. Assertion (A)

134.

135. Assertion (A)

@

: In monopolistic
competition there is excess
capacity.

Reason (R) : Monopolistic output
is more than optimum.

(1) Both (A) and (R) are true and

(R) is the correct explanation of

(A).

Both (A) and (R) are true but

(R) is not the correct

explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

(5) Question not attempted

In a perfectly competitive market,

each firm produces and sells a

homogeneous product. It means

(1) cross elasticity of the products
of sellers is infinite.

(2) cross elasticity of the products

of sellers is zero.

the average revenue curve of

the individual seller or firm

will be perfectly inelastic.

cross elasticity of the products

of sellers is one.

(5) Question not attempted

3)

(4)

A perfectly
competitive firm in short-run
cannot avoid losses by shutting
down.

Reason (R) Shutting down
cannot reduce the variable
costs to zero.

Choose the correct option :

(1) Both (A) and (R) are correct

{al)d (R) 1s the correct reason of

Both (A) and (R) are correct

but (R) is not the correct

reason of (A).

(A) is correct, but (R) is not

correct.

(A) is not correct, but (R) is

correct.

Question not attempted

(2)

3)
4

(5)
o
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| 136.

138.

139.

Which statement is not true

regarding Total Revenue — Total

Cost approach in case of perfectly

competitive firm ?

(1) TR is a straight line sloping up.

(2) The slope of TR curve is equal
to the price of the good.

(3) Total Cost curve slopes down
with some curvature.

(4) At higher levels of output TC

curve begins to slope upwards

steeply because of diminishing

marginal returns.

(5) Question not attempted

A perfectly competitive firm can

increase its sales revenue by

(1) reducing the price

(2) increasing the price

(3) increasing the production

(4) increasing the expenditure on
advertising

(5) Question not attempted

A perfectly competitive firm earns

abnormal profits when its

(A) average cost curve lies above
its demand curve.

(B) average revenue curve
tangent to average cost curve.

(C) demand curve lies above the
average cost curve.

(D) marginal revenue curve lies
above the average cost curve.

Select the correct answer using the

codes given below :

Codes :

(1) Only (A) and (D) are correct.

(2) Only (A) and (C) are correct.

(3) Only (B) and (C) are correct.

(4) Only (C) and (D) are correct.

(5) Question not attempted

is

A perfectly competitive firm should
shut down output in the short-run
if market price is equal to marginal
cost and price is
(1) greater than average total cost.
(2) less than average total cost.
(3) greater than average variable
cost.

(4) less than average variable cost.
(5) Question not attempted
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140.

141.

142.

Money supply is a

(1) flow variable at any point of
time

(2) stock variable at any point of
time

(3) flow variable at any period of
time

(4) stock variable at any period of
time

(5) Question not attempted

Endogenous variables are

(1) determined outside the model.

(2) determined within the model.

(3) fixed at the moment they enter
the model.

(4) related to the period of time.

(56) Question not attempted

Which of the following is correct ?

(1) NNPFC = GDPMP T Depreciation
— Net indirect taxes + Net factor
income from abroad

(2) NNPgpc = GDPpp — Depreciation
+ Net indirect taxes — Net factor
income from abroad

(8) NNPgc = GDPyp — Depreciation
— Net indirect taxes + Net factor
income from abroad

(4) NNPpc = GDPyp + Depreciation
+ Net indirect taxes + Net factor
income from abroad

(5) Question not attempted

When the monopolist behaves as if
each unit of commodity is sold
separately to consumers and
charges the  highest price
obtainable for each unit of the
commodity, it is called

(1) First degree of price
discrimination
(2) Second degree of price
discrimination
(8) Third degree of price
discrimination
(4) Fourth  degree of price
discrimination
(5) Question not attempted
o
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144.

! 145.

146.

Which one of the following is not a

component of net factor income

from abroad ?

(1) Net compensation of employees

(2) Net income from property

(3) Net retained earnings of the
resident companies working in
foreign countries

(4) Net exports

(5) Question not attempted

Undistributed profits of the

corporate sector are included in

(1) National Income

(2) Personal Income

(3) National Income and Personal
Income both

(4) The income of the
holders of the company

(5) Question not attempted

share

Consider the following statements :
Assertion (A) : Capital gains and
losses are included in GDP.
Reason (R) : Capital gains and
losses are sudden changes and
are not related to -current

production process.

Choose the correct option :

(1) Both (A) and (R) are correct
and (R) is the correct reason of
(A).

(2) Both (A) and (R) are correct
but (R) is not the -correct
reason of (A).

(3) (A) is correct but (R) is not
correct.

(4) (A) is not correct but (R) is

correct.
(5) Question not attempted

7. Fisher’s ideal test does not meet
which one of the following test ?

(1) Unit Test

(2) Circular Test

(3) Time Reversal Test

(4) Factor Reversal Test

(56) Question not attempted
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148. Consider the following statements :
When prices rise, debtors lose in
real terms.

B. When prices rise, creditors gain
in real terms.
Choose the correct option :
1) Only A is correct.
2) Only B is correct.
(3) Both A and B are correct.
(4; Both A and B are incorrect.
(5) Question not attempted

149. Match List-I with List-II and select

the correct answer by using the codes

given below the lists :
List-I List-II
(A) M, @ Currency with the public

+ Net total deposits of
banks + Other deposits of
the RBI
Currency with the public
+ Net demand deposits of
banks + Other deposits of
s the RBI + Saving
deposits of post offices
(C) M, (i) Currency with the public
+ Net total deposits of
banks + Other deposits of
the RBI + total deposits
of post offices
Currency with the public +
Net demand deposits of
banks + Other deposits of
the RBI

(u) ng 21\3

® M, ()

@ M, Gv)

D)

1 )]
gu&%g

(S) av) () (@)

5 uestion not attempted

. Which of the following statements is

incorrect ?

(1) The precautionary demand for
money is unrelated to income.

(2) There is a precautionary demand

for money because of uncertainty

about the receipt of future income.

There is an inverse relationship

between the market rate of

interest and the market price of

bond.

There is a precautionary demand

for money because of unexpected

expenditures.

(5) Question not attempted
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